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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

you put the jar back into the cupboard for me, please?
e Would
¢ May
e Should
e Might
Correct Answer :-Would
2)
Question Stimulus :-

Fill in the blank with the correct option.

I____  getinto these trousers any more. They're far too small for me.
e ought to
* must
® can't
® can
Correct Answer :-can't
3)
Question Stimulus :-

Fill in the blank with the correct option.

Changing the course of the river cause serious environmental damage to the
whole valley.



e would

* must

e cannot

e might not
Correct Answer :-would
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

The door opened and a nurse came the room.
* into
® in
* off
* beyond
Correct Answer :-into
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

There were a series of explosions and the van burst
* to
e for
e from
* into
Correct Answer :-into

6)

Question Stimulus :-

flames.



The good thing about exercise is that it burns ______ calories.
e off
* into
e to
e from
Correct Answer :-off
7)
Question Stimulus :-
Fill in the blank with the correct preposition.

The bells ring ______ regular intervals ______ the day.
¢ at, through
® in, from
® on, off
e for, in
Correct Answer :-at, through
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ The most happy marriage

e would be an union of a deaf man
* and a blind woman.

* No error

Correct Answer :-would be an union of a deaf man

9)



DIRECTIONS: In the following questions, some of the sentences have errors and some

have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e A man is the only creature
e that is endowed with
¢ the faculty of reasoning.
* No error
Correct Answer :-A man is the only creature

10)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e It is very difficult to find out
¢ the number of a creatures
* living on the earth.
* No error
Correct Answer :-the number of a creatures

11)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ If you had warned me,
e I would not have told your father
e about that party.

* No error

Correct Answer :-No error



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If he will ask me

¢ for help,

¢ I will definitely help him.

* No error
Correct Answer :-If he will ask me
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Until the train will not

e get the signal,

¢ it will not leave the platform.

* No error
Correct Answer :-Until the train will not
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e Before he could
e understand anything,
¢ the robber have fled.

®* No error



Correct Answer :-the robber have fled.

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e It have been raining

e continuously for the

* last one week.

* No error
Correct Answer :-It have been raining
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

The teacher said to the student, "Why are you working so hard”?

e The teacher asked the student why he has been working so hard.

e The teacher asked the student why is he working so hard.

e The teacher asked the student why he had been working so hard.

* The teacher asked the student why was he working so hard.
Correct Answer :-The teacher asked the student why was he working so hard.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Mother said to the children, "I have often told you not to play with fire.”

e Mother told the children that she has often told them not to play with fire.



e Mother told the children that she had often told them not to play with fire.

e Mother told the children that she have often told them not to play with fire.

Correct Answer :-Mother told the children that she had often told them not to play
with fire.

18)
Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Neeta asked Meena, “"What did you see at the south pole”?

* Neeta asked Meena what she saw at the South Pole.

* Neeta asked Meena what she has seen at the South Pole.

* Neeta asked Meena what she had seen at the South Pole.

* Neeta asked Meena what did she see at the South Pole.
Correct Answer :-Neeta asked Meena what she had seen at the South Pole.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.

A massive tribal welfare programme has been launched by the government in
Jharkhand.

e The government has launched a massive tribal welfare programme in Jharkhand.
e The government had launched a massive tribal welfare programme in Jharkhand.
* The government was launching a massive tribal welfare programme in Jharkhand.

e The government had been launching a massive tribal welfare programme in
Jharkhand.

Correct Answer :-The government has launched a massive tribal welfare
programme in Jharkhand.

20)



Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

Are they receiving the chief guest at the station?

* Has the chief guest been received at the station by them?

e Have the chief guest been received at the station by them?

* Are the chief guest being received at the station by them?

¢ Is the chief guest being received at the station by them?
Correct Answer :-Is the chief guest being received at the station by them?
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The principal will meet the students this evening.

e The students could be met by the Principal this evening.

¢ The students will be met by the Principal this evening.

¢ The students can be met by the Principal this evening.

e The students should be met by the Principal this evening.
Correct Answer :-The students will be met by the Principal this evening.
22)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.

e When you buy a new computer, you usually get software included at no extra
cost.

e When you buy the new computer, you usually get software included at no extra
cost.

e When you buy an new computer, you usually get the software included at no extra
cost.

e When vou buy an new computer, vou usually get software included at no extra



Correct Answer :-When you buy a new computer, you usually get software included
at no extra cost.

23)
Question Stimulus :-
Fill in the blank with the correct option.

There is ____ salt and pepper in that container.
o little
e a little
¢ the little
* afew
Correct Answer :-a little
24)
Question Stimulus :-

Fill in the blank with the correct option.

The teacher has kept books in the shelf.

o few

* afew

* the few

¢ a little
Correct Answer :-a few
25)
Question Stimulus :-

Fill in the blank with the correct option.

She passed me sauce that was there in the jar.

e little

e the little



® a little

e the few

Correct Answer :-the little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The "Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That's
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What does the word ‘forage’ mean?
e Attack someone desperately
e Search widely for eatables or provisions
e Steam or boil vegetables
* None of the above
Correct Answer :-Search widely for eatables or provisions

27)



Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That’'s
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What was the name of the great character that was created by the renowned
comedian Charlie Chaplin?

®* Music Hall artist

e The great British comedian

® The Little Tramp

®* None of the above
Correct Answer :-The Little Tramp
28)

Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The "Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed



found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That's
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

Which word in the passage means ‘to take hold of something or someone suddenly and
roughly’?

e Grabbed
e Emerged
e Recall

* None of the above

Correct Answer :-Grabbed

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The “Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who



never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That's
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered
him a share of theirs. Spontaneously, the adult Chaplin gifted the orphanage with a
motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What was the reason of Chaplin’s disturbed childhood?
e Separation of his parents and low income of his mother
e Psychological iliness
e Harassment and torture at orphanage

e All of the above

Correct Answer :-Separation of his parents and low income of his mother

30)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

The "Little Tramp”, the unforgettable character Charlie Chaplin invented, was born
purely by accident in 1915. While rushing to a film shoot in California, he grabbed
clothes other people had left behind in the changing room. And when he emerged, he
found he had created a personality everybody loved. A little guy in a bowler hat, a
close - fitting jacket, a cane, outsize shoes and a brush - like moustache!

Before long, Chaplin found himself a star. That puzzled him, for he saw himself
essentially as a shy British Music Hall comedian. The U.S. acknowledged him as its king
of silent film comedy. Soon, so did crowds all over the world. But life wasn’t always a
laugh for Charles Spencer Chaplin. Both his parents were Music Hall artists, who
separated when Charlie was very young. His childhood was very sad, for his mother
never earned enough to look after Charlie and his older brother, Sydney. Sometimes,
Chaplin had to sleep on the streets and forage for food in the garbage. Charlie took his
first bow on stage when his mother made her last appearance. It happened when her
voice broke during a song. Her son stepped on stage and sang a popular song. That's
when a star was born. Through all these years of success, Charlie never forgot his
troubled childhood. It made him recall a Christmas when he was denied two oranges
and his bag of sweets for breaking a rule at the orphanage he went to after his
mother’s death. It would have broken his heart, if the other children had not offered



motion picture machine and insisted that each child should have as many oranges and
sweets as they pleased.

What does the word ‘acknowledge’ mean?
®* To contradict
* To deny the truth
e To accept, admit, or recognize something

® None of the above

Correct Answer :-To accept, admit, or recognize something

Topic:- Hindi

1)

Question Stimulus :-
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2)

Question Stimulus :-
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3)
Question Stimulus :-
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4)
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5)

Question Stimulus :-
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Question Stimulus :-
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7)

Question Stimulus :-
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8)

Question Stimulus :-
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Question Stimulus :-
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Correct Answer :-%HdR

11)

Question Stimulus :-
"I Mg | PIH-IT ST 22

° 3
° 3
* 3
® 3
Correct Answer :-3@

12)

Question Stimulus :-

“gX” U fhd XIeg AE A 87
© GRIARI, M
* TN, gHTEH
o GWIH, GRAVT
* g, g
Correct Answer :-giawdl, gamm

13)

Question Stimulus :-
fa@ T4 areiw & RIT Ue reg HT AT Hiforg-
St R1F & g BT 21

* XFH
* TR

o SHIY



Correct Answer -4

14)

Question Stimulus :-
AT Teg & RIT areis $1 w9 HRe-
o fHeft ®rd &Y amT &
o et wrd & forg frdwr g
o Pt orf ¥ g emamr 3
o oWl 1 & oy wewfa &
Correct Answer :-f&ft 1t & forg ggafa g

15)

Question Stimulus :-
Bt g H PIH-AT TG 72
* =q
* 3
o T
* R
Correct Answer :-3

16)

Question Stimulus :-
‘P’ Uy foT Teql & WY F5d © ?
GE
o HIAH
o faRiyor
o fomar

Correct Answer :-far



Question Stimulus :-
‘g’ ®T a0 g Tgae-
o guR
o fapaor
° qf‘gﬁ;
* gfw
Correct Answer :-3i%®
18)
Question Stimulus :-
Tgd-acaq g | $Ig Th I e §, Terd TTH BT 99 DIfTe?
o Fit-afiamr
o giT-afdrs
o UF-UE
* §g9Y
Correct Answer :-UlF-git

19)

Question Stimulus :-
IR’ BT usiards e -

o TN} f5U
o AT S
e 7§
* JAEHRI
Correct Answer :-91g

20)

Nuactinn Stimiilne -



7 & / Pis T Taigarl GE A §, SHST 9T Hiforg-
* U, TE, IY, TAAY
* T, URR, Wd, TAT
* 1Y, UM, G, SR
e v, ufa, ufer, gof
Correct Answer :-Udlg, ¥, 94, 7Y

21)

Question Stimulus :-
MTOMT-TTSAT We-g7H & Tl Srd-Ug BT T+ Sifore-
* HBAT-FMI
o fiFe-gyT
o SISHI-geHI
o FET-YIT
Correct Answer :-fdl-gu=r

22)

Question Stimulus :-
‘Feur weg 31 6@ fode 8-

e 1+ 3Um™

e 7+ IUm

o f: + Ul

e e + Ul
Correct Answer :-f: + U
23)

Question Stimulus :-

ey e # Iy gnft-



o o Ay
o fauf dfy
e 99 A PIS Tl
Correct Answer :-fauf Sfy

24)
Question Stimulus :-
YUY’ TG H WA §-
o fgiau™
* §g IHN
o AT HH
o TH I P T
Correct Answer :-3gdiyE Ta

25)

Question Stimulus :-
‘SR g § HIH-T1 TANT 2-
* §g IHN
* HHYRY U
o JETAiUTT HHN
e St gUN
Correct Answer :-$FHUYRY TN

26)

Question Stimulus :-
3MPIdF T BR’ & forw g & A o fawey &1 7+ Fifere-

* TRISY

® HIeT



o faER

* TR BT ATYYT
Correct Answer :-fagr
27)

Question Stimulus :-

P Teg U F e fFa # § werd fawew w1 99T Fifee-
¢ 3o
* TP
o Joftat
° §d
Correct Answer :-gsitat

28)

Question Stimulus :-

g el # @ o a9 W €, WEl a1 BT 9a Bifee-
o 3P Tifarg @t MaRaHar §
o 3T ITXTATG ITHDIT ¢
o 37U TRfarg STaED 3
* 3MUHI TiiaTg SIS &
Correct Answer :-3U®T Mifarg STaxa® §

29)

Question Stimulus :-

fa & 9 T a9 a4 §, Tad 919 BT 94 Pifore-
* 9§ gRNITUI ¢
* YT S Biell §
° Y H BN IS T



o ¥ MU SRTAT QT
Correct Answer :-g¥ # 39 U 1

30)

Question Stimulus :-
“g3 fazarT § % oMy s/ AT W 91T &1 YHR Ugan-u-

* WA 9

o iy g

o Y aH

o T A PR T
Correct Answer :-fay ara

31)

Question Stimulus :-

g & A wruR a1 &1 994 -

o & e WeHd T §

o ¥ e Wewd §

o & U A FeHd QTP §

o ¥ MU 7T UeHd § 7 STTAT §
Correct Answer :-¥ 3Tud Tgad §

32)
Question Stimulus :-
g # g5 oo+t ggafe-

o fufdelt

® Judrer



Correct Answer :-3IRydr

33)

Question Stimulus :-
e & e it wgfe-

® JYRY

Correct Answer :-34RUl
34)
Question Stimulus :-
"3 BT ST I TIAgE” Abifad o1 3rf 3-
o 3t Bl 31T g
o ITT Pt A BT AT
o U & fqudta A
o T AT BT HRUT §HT
Correct Answer ;-7 & faudiad a4

35)

Question Stimulus :-

“IHS] S U gHE! 9 ST Adifa T o0 8-

* FHOR YH BT

g Do BT
TeT TREr | T8

o ¢ Bl T FUIAT
Correct Answer :-9gd g™ gl



Question Stimulus :-

5t ¥ PIs way 9 @1 o fpu dielfea § e -
o g H U
* TS P I U
YT AT TUT YAl

AN TS TG

Correct Answer :-a-1 T 9 &1 &

37)

Question Stimulus :-
o e ®1 S8 Hire-

"I ¥ FRT go aafad wis Wt wrf a1 Wad o34 ¥ Ugd R oaT 31 98 Uil gwhadl &1 faxary =18t sl urarl 7+

f gRA BT W A9 St vl 3R dar g1 vaia el Ras-Rawar SR T-Fd®H $IW ol g1 98 3uA

3T HY I3 e I aeg # e T8 urarl TRumy w1 giar 8 & Sud 71y §d us wa 8, U™ @) ufa it us

%%’l m;wﬁrﬁ?@awaﬁmWIWﬁuﬂaﬁmﬁm%wﬁaﬁﬁmim
P v I”

oy g SftaT @

<1 o+ &1 qd @

g P 3ifa 78

A9 % 8R R © #9 & Sid siid
Correct Answer :-A9 $ gR 8R € #9 & Siid Siid

38)

Question Stimulus :-

g ugell & T SR P T Fifvre-
3fCH Tl WP T, UfeR =il Sl
Wt @O o ArSen, I¢ Ten Sl

® oId

® YT



* Pl
Correct Answer :-dddRR

39)

Question Stimulus :-

g el & 9E SR &1 U Pifere-
“OId 3 @S 8, $RAT 9l YN g1”

o e
o TIRT
* 3T 3R 3T
o T A I Tl
Correct Answer ;-3 3% §af

40)

Question Stimulus :-
Fafafea d 9 5 Froase o8 w82
* TR
* HWTHG
o T
o iew
Correct Answer :-3en

41)
Question Stimulus :-
i & ¥ w1, 9 31 Joed a7 T8 &-
* %HH
o T

e gfq



Correct Answer :-3fa

42)

Question Stimulus :-
I H iU TR ST 91l THMER U IaHE § SIF-971 22

o = i
.« T
o I WY
o TEURT
Correct Answer :-¢A® UR®

43)

Question Stimulus :-

Ay A P aril teaE |@a 1T 8-
* I goadd
* WY TS
° WI-Qd H
o WA AT
Correct Answer :-@d gadd

44)

Question Stimulus :-

a@®! P UM fPu fvw fas & Hiar ford o &2
* HIEP
o i i
* eI Sl For
o THEI Il g

Correct Answer :-3s&g 353U 8



Question Stimulus :-

o fafea 6 arizi & @ wyw 9 sifow [y 8, Jv 31 e w0 § oafeua sifvm)
(1) Frran St A Faa

(3) wfaard g =Tl ferelt

() ¥ oft 3 & e

(@) Sifug Tre ot 3= faemai

(@) faftrs e &

(6) 3o+t Haw IaTg

® gvddq
e gduvNd
e ddvyg
® XY 4q
Correct Answer :-gdvd

46)
Question Stimulus :-
g fafa 6 ari=i & @ wym 9 sifvw Ffda B, I 9 i w0 ¥ oafRum sifvm
(1) gt & fig
(7) e ok e=f= &
() Tifes | =i
() Hifdd HER & WY B
(9) BIS 3faR TE oI
(6) TETH BT UTd BIa A

* AITY

* ¥WYT

® qYdrx

® g d



Correct Answer =g 93 d

47)

Question Stimulus :-
fomge S a1 ge I & g IugwE T §-
® Execution
® Exempt
® Exemption
e Exhibition
Correct Answer :-Exempt
48)

Question Stimulus :-

‘Amendment’ & foIT IUgw = -
o TRadA
o TR
o YT
o faferizor
Correct Answer :-Hzig

49)

Question Stimulus :-

Afelt yTr St Al Ha- 72
* g%
o TR
° dwpd
. giTE

Correct Answer :-¢danRt



Question Stimulus :-

fra &7 P dicil Y BIRIPT BT T 82

T o o
* JRT-HITTYR
o TARA
* HIY
Correct Answer :-g-R¥

51)

Question Stimulus :-

JWTEP & AW T H THIYT B 1T vrvevrvennenns

* TS
° 454
* Ui
o i
Correct Answer :-Hgicg

52)

Question Stimulus :-
foreft weita an fAsifa werd &1 avia

* YTATH®
Correct Answer :-auiArd®

53)

NDuactinn Stimiilne -



..................... F IJUR fFa= &1 3T 7 B ST ISH, WIRAIEH, Tl D Fiel 3% 3T+5 BT Y gl
o TRt IHEE YT
o SIS
* B Ty UUSy
* I
Correct Answer :-sf. QMY TUSg

54)

Question Stimulus :-

“gora” [T & IR BT 19 -
o Jad Ay
° 3R
* I TG
o I Hgdl
Correct Answer :-I”d THG

55)

Question Stimulus :-
“Hfe iy P wert @ A 9 8-
o I Yo
o Urf3d
o HaHl & T
® B3 B U
Correct Answer :-®13 &I Ul

56)

Question Stimulus :-

g1, JuTE, aul, ARST i B gyttt & o & i # F BiH-a1 v Rrg vk gar 82



o I fRm
o qUl foR™
o fawmafe siu®
Correct Answer :-guf farm

57)

Question Stimulus :-
“yra:wTa” e ® S e gty @1 o 82

o N Ys

o Ag

oy gued

o T 9§ B T
Correct Answer :-3i&R 4g

58)

Question Stimulus :-
TP 1Y | el TE1 aorel” b1 T 3 -

o T gy ¥ fF A8 St
o firar @ SR | Bl 8
* T 3R ¥ ST FHI T Fa
o IWie It
Correct Answer :-T& 3R ¥ ST W 78 gar

59)
Question Stimulus :-
SUTH 3R GIR=TRT YTl 3P R BT 33160l o-
o “T TgHT 21"
o “IRUI HU Tqt BR 1"



e “fiuR urd IR 7 Stal”

e “Ud Wil e, UHd gd IR-aR|”
Correct Answer :-"U/d 48 98, IFd Jd IR-aR|”
60)

Question Stimulus :-

“Xd ¥ Ta-d HAMI, FgT SO T HgT T JH1" SRR -
o Jffoaife PR o
o fIUTEAT SEIHR BT
o RS ADPR B
o fRIUTH PR BT
Correct Answer :-AfR® ABR B

61)
Question Stimulus :-

“JT FHafg gt At

ot IR wifg gu fusr uE, gz oig @ B
q i Fefa ga B o= <Y, § § qrdl Hi
Fled gd ~garad Siod, MR- Y3 et

f5H I 3T I3 &-
o JUNT YR 9
* I I
o 3N IR
o T A B T
Correct Answer :-add 39

62)

Numuactinn QFimiulne o



a1y T yTa: TR T W e 82
o YR
* FHEUIIH
® XMid I
o U At
Correct Answer :-3uda Tt

63)

Question Stimulus :-
Fordl” o1 Yy frsde ghm-

o qdt+ard

o a+od

o g+

o Ad+d
Correct Answer :-gdt+3if

64)

Question Stimulus :-

‘o quf §-

* I

.

.« 3w

¢ 3ty
Correct Answer :-daddd
65)

Question Stimulus :-

dqTeiod Ul 1 TST &-



Correct Answer :-9

66)

Question Stimulus :-
Tamdor # qHTT 8-

* HU AGSY

HUGH dgey

SUTGH TY?Y
* HH qYSY
Correct Answer :-99qH dgoy

67)

Question Stimulus :-
7 ree-g9 & fawedl § 9 I8 erd-Ye &1 99+ Fifore-

T
o qU-TUNTT
o Huu-fraw
o qUE-RE
o TgA-RE
Correct Answer :-qq1-R@

68)

Question Stimulus :-
5o wge ¥ 9t 3 ‘ST & vafgary 82

e 3T, AU, IUM, faw™



* IUM TREDI, Ied, YIS
o JTAI®, 394, Mafs, TH™=

Correct Answer ;-3 TRa®1, 3Aged, T

69)

Question Stimulus :-

b &1 faedie gf:-
o 3y
o fAS¥
o fmffe
e 9 A PIg Tl
Correct Answer -39 § &I 81

70)

Question Stimulus :-

............... , Riftr aifesa & vy == 81

® XTHI™UT

HTHRT

I ARR
o TEHEt
Correct Answer :-HgIHRd

Topic:- General Knowledge
1)

Question Stimulus :-

A person cannot lose citizenship through
"ol g

* Foreign adoption / fae=ft iFfim=ur

® Renunciation / oA

& HIHH | ANTRSGT 81 Gl



* Acquisition of another citizenship / Tt 31 ARTR®ar & Siferrgor
e Individual ability / FIfRFTT &eam

Correct Answer :-Individual ability / STfaaTd &edm

2)

Question Stimulus :-

Match the following and select the correct answer from the codes given below: / IREKal

foret ofik e fRE e sk # A 9E) S &1 79T B:

List-I List-II

1. Karnataka a. Lohri

2. Tamil Nadu b. Ganesh Chaturthi

3. Maharashtra c. Pongal

4. Punjab d. Mysore Dasara
ghi-1 JhRI-11

1. Bl a. dgd

2, aleTg b. IRy TGt

3. HERIY c. Ui

4. TS d. AR TG

®* 1-d, 2-c, 3-b, 4-a

® 1-d,2-c,3-a,4-b

e 1-c,2-d,3-b,4-a

® 1-d,2-b,3-c,4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

Which among the following is the actual shape of Earth? / & o g o At BT MHR P AT ]2

® Square / CL|



® Rectangular / 3TITd

* Circle / R ( M)
Correct Answer :-Oblate spheroid / T&& TMaTH
4)
Question Stimulus :-

Which of these cannot be the same for two different persons? /'&"qﬁ q B9 91 AT & 3CRT safaadl § FHTT

T8l 1 gPpar?

e Skin Colour / TH T 3T

® Fingerprints / 31'{1??[ B

® Eye colour / 3G BT 31

® Blood Group / Ickd Tt
Correct Answer :-Fingerprints / \"F]ﬁ)f Bq
5)

Question Stimulus :-

Most powerful computeris ./ T Sifie =Mfa=ett TZFUET - %I
® Micro computer / 'FI'IE%J[ 3’7013?
® Laptop computer / AYery ?:FGET
® Super computer / JUX W
® 4G computer / 4G HHI

Correct Answer :-Super computer / JUR HHI

6)
Question Stimulus :-

Where was the first atomic power station in India established? / HRd T gyyg TIHTYL Toll WM wel v foar
T 41?

® Tarapur / ARTYR
® Thane / 3T0I



* Trombay /i
e Surat / Jxd

Correct Answer :-Tarapur / IRTYY
7)
Question Stimulus :-

India’s permanent research station ‘Dakshin Gangotri’ is situated in « / HRd BT

IR S ¥ gfdror T ¥ fR@ B
® Great Himalayas / fa=me fgumea
® Indian Ocean / f& AERITR
* Antarctica / FEIPHieHI
* Arabian Sea / 3R¥ AR

Correct Answer :-Antarctica / 3FTHICPHT

8)
Question Stimulus :-

Kerala state is famous for which dance? / CaE| a1 [ CI k| uﬁi@ %?
® Break dance /§$ S
® Kathakali /$?-Iilﬁﬂ
® Dandia /ST%TIT
® Kathak / PUDP

Correct Answer :-Kathakali / BUYHEN

9)
Question Stimulus :-

The Varanasi - Kanyakumari National Highway is ./ W@W@'ﬁ'ﬁﬁﬂ'@ﬂ
SR §

e NH-15

e NH-2



e NH-7
e NH -47
Correct Answer :-NH -7

10)

Question Stimulus :-

Which of the following States is on the border of Kerala? / g A T DI 9T I P B THHT TR %?

e Maharashtra/ H%mg
* Goa /Tﬁ'aT

e Tamil Nadu / 9@ 1§
e Andhra Pradesh / 3y FI%QT
Correct Answer :-Tamil Nadu / 90 AT§

11)

Question Stimulus :-

Which of the following city is called as the Royal city? /g ¥ 9 P19 A e ad Ridt F Aam

ST ST 32
e Patiala / UfeTTEN
e Shimla / TR
® Darjeeling / ari%fﬁ-m
® Mussoorie / W\‘iﬁ

Correct Answer :-Patiala / UfedTar

12)
Question Stimulus :-

The extensive coffee plantations in Brazil are called
gl

® Fazendas / Poied
@ (MNavwala /?ﬁ:‘i.—vg

/ sioite # fafiof wiw! @t

wE! oIt



® Estancias /E'\?'iﬁ:ﬁ:r\q
. Trasil/g'lﬁ:lﬁ

Correct Answer :-Fazendas / BRSd

13)

Question Stimulus :-

Who among the following players is NOT related to Tennis? / & T A B a1 feast T & gafRg T8
&7

® Martina Hingis / i f’ffra
* Venus Williams / 9 dteiiaed
* Andy Murray / TSt W

® Tiger Woods / TSR 484

Correct Answer :-Tiger Woods / ISR g

14)
Question Stimulus :-

Which game is related to Agha Khan Cup? /D AT A ST & 9 I ST g3l 2
® Hockey / ﬁﬁ
® Chess /39
e Cricket / fopthe
® Volleyball / CIGIEIG]
Correct Answer :-Hockey / Il

15)

Question Stimulus :-

Srikanth Kidambi is an Indian badminton player, who became the first Indian male to win gold at the 2015 Swiss

Open Grand Prix Gold by defeating /mmw Wé@'&lﬁma ST 2015 § a9
3o TS fireRT Tiies ® wavl siae aTdt Ugdt WRATT a3 351+ o9 A4 | fpd gmam o

® Iskandar Zulkarnain Zainuddin / S¥P<q \‘{mmﬁq ﬁﬂa‘ﬁ




® Prannoy Kumar / PRI PHRY
® Viktor Axelsen / fd@ex Q@W

Correct Answer :-Viktor Axelsen / fdge? TaieT

16)
Question Stimulus :-

Tennis star Roger Federer hailsfrom____ . / AT TR ISR s - ¥ Farh %'I
® The USA / 33T
® France / W9
* Switzerland / f&IeoRds
* TheUk / fores

Correct Answer :-Switzerland / fcoRds

17)
Question Stimulus :-

Who is the first Indian woman chess player to cross 2600 ELO rating? / 2600
ELO e UR 931 arelt Ugdll HRAT A sl [[ars! S 82

® Sapia Mirza / rferr fast

e Tania Sachdev / arferam '\:I?Iﬂﬂ
® Saina Nehwal / Flg:lT ﬁ?fﬂﬁ

® Koneru Humpy / PIE grlt

Correct Answer :-Koneru Humpy / ®I-%& gHil

18)
Question Stimulus :-

An indirect instrument of monetary policy is / 3ffe ifa &1 srvcaer ATeaw 82
 Bank Rate / 8@ S{Jurd
® Repo Rate / feat STurd



® None of these /E:Iﬁ T ?ﬁg T'Iﬁ

Correct Answer :-Open Market Operation / el ISR THITAT

19)
Question Stimulus :-

Which among the following is also called Green Gold / 9% & & f® g1 |91 *ff F81 Wi aT @
® Coconut / ATRAA
® Sugarcane / AT
 Coffee / PIWI
® Tea/dld

Correct Answer :=Tea / dld

20)
Question Stimulus :-

Who is the current Chairperson of the State Bank of India? 